


















Corporate Accounting-May 
2021

All Questions are Compulsory. Each Question Carries 2 Marks. Maximum Time Allowed: 1 Hour

* Required

* This form will record your name, please fill your name.

Calculate the amount to be debited to P&L A/C of ABC Bank Ltd.

Advances (given inside T/B)     Rs 21,00,000

Unsecured loan (given inside T/B)    Rs 22,80,000

Provision for doubtful debts (given inside T/B)   Rs 6,00,000

Additional information outside T/B

B/D to be written off from advances Rs 1,00,000

Provide for doubtful debt @5% on unsecured loans and advances in addition to 
existing bad debt provision. * 
(2 Points)

1.

Rs 7,14,000

Rs 2,14,000

Rs 3,14,000

Rs 8,14,000

12/13/2021



Find out the values of Claims paid as per schedule 2 of REAL general insurance 
company.

Claims      Rs 4,80,000

Claims intimated but not accepted as on 31st march 2018      Rs 10,000

Claims intimated but and accepted but not paid as on 31st march 2018      Rs 60,000

Expenses of management (including 8000 for legal expenses for claims)     Rs 10,000

Outstanding claims as on 31st march 2017       Rs 40,000

Reinsurance recoveries         Rs 8,000 * 
(2 Points)

2.

5,12,000

5,10,000

5,18,000

5,26,000

Broad ford Ltd. has a share capital of 10,000 Equity shares of Rs.10 each having a 
market value of Rs.16 per share. The company raises funds through rights issues by 
offering one new share for every four shares held at a price of Rs.14. You are 
required to calculate the value of right as well as the ex-rights value of a share. * 
(2 Points)

3.

0.40, 15.60

0.60, 12.40

0.38, 12.55

0.50, 15.50

12/13/2021



The company issued for subscription 50,000 equity shares. The entire issue was 
underwritten as follows:

X - 30,000 shares (Firm Underwriting - 5,000 shares)

Y - 15,000 shares (Firm Underwriting - 2,000 shares)

Z - 5,000 shares (Firm Underwriting - 1,000 shares)

45,000 shares including firm underwriting were subscribed. 

Following are marked forms:

X - 16,000 shares, Y - 10,000 shares, Z - 4,000 shares

Calculate net liability by treating shares underwritten firm as marked applications. * 
(2 Points)

4.

X-9,667; Y- 2,333; Z-1,000

X-8,333; Y- 1,667; Z-1,000

X-9,333; Y- 2,667; Z-1,000

X-8,667; Y- 1,333; Z-1,000

From the Following information of a commercial bank on 31st march 2020, calculate 
the amount of provision to be made for NPAs:

	 	 	 	 	 	 	 	          	 Rs.

1.	 Standard Assets	 	 	 	 	 	 16800

2.	 Sub-Standard Assets	 	 	 	 	 1340

3.	 Doubtful Assets (Secured)	 	 	 	 

a.	 Up to 1 year	 	 	 	 	 	          320

b.	 1 to 3 years	 	 	 	 	 	           90

c.	 More than 3 years	 	 	 	 	            30

4.	 Doubtful Assets (Unsecured)	 	 	 	    97

5.	 Loss of Assets	 	 	 	 	 	            48 * 
(2 Points)

5.

560.2

559.2

565

None of the above

12/13/2021



Calculate the amount to be shown under other expenses while preparing a profit 
and loss account in the case of companies.

Carriage Inward                                                                     Rs. 50,000

Carriage Outwards                                                                 Rs. 20,000

Bad debts (given in trial Balance)                                         Rs. 30,000

Bad debts (Given in adjustments)                                         Rs. 15,000

Debtors                                                                                   Rs. 1,15,000

Create provision for doubtful debts @ 30%

Provision for bad debts (given in trial balance)                    Rs. 5000

Traveling expenses                                                                Rs. 20,000

Salaries to workers                                                                 Rs. 50,500

Director salary                                                                        Rs. 5000 * 
(2 Points)

6.

1,15,000

1,65,500

1,70,500

2,25,500

Calculate the rebate on bills discounted from the following particulars of ABC Bank:

Amount of Bill discounted	 	 Due Date          	 Rate of discount
1,20,000	 	 	 	                15.4.2018	                       12%

1,00,000	 	 	 	                 20.5.2018	                      14%

75,000	 	 	 	                 10.8.2005	                       16%

Bank’s accounting year ends on 31.3.2018. * 
(2 Points)

7.

7680

8650

5680

6850

12/13/2021



The revenue account of a life insurance co. shows the fund for the year ended 31-03-
2020 at Rs. 2658500 before taking into account the following items:

1.	 Bonus utilized in reduction of premiums Rs. 2500

2.	 Outstanding premiums Rs. 6500

3.	 Claims intimated but not admitted Rs. 14100

4.	 Claims covered under reinsurance Rs. 6900

Calculate the Correct Life Assurance Fund * 
(2 Points)

8.

2657800

2657900

2657000

2657100

A Ltd. Company issued 10000 shares of Rs. 100 each payable as under Rs. 20 on the 
application; Rs. 30 on allotment; Rs. 50 on call. The public applied for Rs. 9000 shares 
which were allotted. All the money due on shares was received except the call on 400 
shares. Show the balance of Cash. * 
(2 Points)

9.

Rs. 800000

Rs. 880000

Rs. 850000

Rs. 820000

12/13/2021



S Ltd. issued 10000 Equity Shares of Rs. 100 at Rs. 200 per share payable Rs. 100 (Rs. 
50 Premium) on application and Rs. 100 (Rs. 50 Premium) on the allotment. One 
shareholder did not pay allotment money on 100 shares and his shares forfeited. 50 
shares reissued @ Rs. 150 per share. Calculate the amount transfer to Capital 
Reserve. * 
(2 Points)

10.

Rs. 2000

Rs. 2500

Rs. 2200

Rs. 2100

A life insurance company gets its valuation made once every two years. Its life 
assurance fund on 31st March 2020 amounted to Rs. 41,40,000 before providing Rs. 
30,000 for the shareholder's dividend for the year 2019-20. Its actuarial valuation due 
on 31st March 2020 disclosed a net liability of Rs. 40,40,000 under assurance annuity 
contracts. An interim bonus of Rs. 60,000 was paid to the policyholders during the 
year ending 31st March 2020. Calculate true profit. * 
(2 Points)

11.

130000

100000

160000

123500

12/13/2021



Calculation of the amount of premium to be taken to revenue account as per the 
working of schedule no.1 relating to Bharti Axa Insurance Company Ltd carrying on a 
marine business.


Direct Premium Received 	 	 	                  Rs. 1,00,000

Premium on Reinsurance accepted 	          	 Rs. 50,000

Premium on Reinsurance Ceeded	 	                 Rs. 60,000

Premium Outstanding at the end 	 	                 Rs. 70,000

Premium Outstanding in the beginning	         Rs. 10,000

Reserve for unexpired risk in the beginning	          Rs. 30,000 * 
(2 Points)

12.

Rs. 70,000

Rs. 60,000

Rs. 30,000

Rs. 40,000

X Ltd. forfeited 20 shares of Rs. 10 each Rs. 7 Called up, on which M had paid 
application and allotment money of Rs. 5 per share. Out of these 15 shares were 
reissued to N as fully paid up for Rs. 6 per share. Calculate the amount transfer to 
Capital Reserve. * 
(2 Points)

13.

Rs. 15

Rs. 20

Rs. 16

None of the above

12/13/2021



Calculate the number of claims to be shown as an expense in the revenue account 
from the following particulars relating to GIC Ltd.

Claims outstanding in the beginning                         Rs. 40 Lakhs

Claims outstanding at the end                                    Rs. 60 Lakhs

Direct Premium Received                                            Rs. 100 Lakhs

Direct claims paid (gross)                                            Rs. 50 lakhs
Reinsurance claims paid                                               Rs. 8 Lakhs

All the direct risks are reinsured for 20% of the risk. * 
(2 Points)

14.

Rs. 86 lakhs

Rs. 68 lakhs

Rs. 78 lakhs

Rs. 96 lakhs

X ltd. Incorporated on January 1, 2020, issued a prospectus inviting application for 
20000 equity shares of Rs. 10 each at face value. The whole issue was undertaken by 
A, B, C as follows:

A: 10000 shares; B: 6000 Shares and C: 4000 Shares

Applications were received for 16000 shares of which marked applications were as 
follows:

A: 8000 Shares; B: 2840 Shares and C: 4160 Shares

Find out the net liability of each underwriter. * 
(2 Points)

15.

A: 1375 Shares; B: 2735 Shares; C: Nil

A: 1275 Shares; B: 2335 Shares; C: Nil

A: 1275 Shares; B: 2725 Shares; C: Nil

A: 1175 Shares; B: 2235 Shares; C: Nil

12/13/2021



Calculate the total revenue from the following information provided by ABC Ltd.

Sales 	 	 	 	 Rs.15,00,000

Sale return 	 	 	 Rs. 1,50,000

Discount Allowed	 	 Rs. 2,00,000

Discount Received	 	 Rs. 40,000

Transfer Fee	 	 	 Rs. 10,000

Purchases return	 	 Rs. 50,000

Purchases	 	 	 Rs. 4,50,000 * 
(2 Points)

16.

13,50,000

14,50,000

14,00,000

15,00,000

Find out operating profit of fire insurance business from following information for 
year ending 31st march 2008:

Claims paid   Rs 5,00,000

Legal expenses regarding claims     Rs 10,000

Premium received  Rs 12,50,000

Re-insurance premium paid   Rs 50,000

Commission  Rs 3,00,000

Expenses of management    Rs 2,00,000

Provision against unexpired risk on 1st april 2007     Rs 5,75,000

Claims unpaid on 1st april 2007        Rs 50,000

Claims unpaid on 31st march 2008        Rs 80,000 * 
(2 Points)

17.

Rs 1,25,000

Rs 1,00,000

Rs 1,35,000

Rs 1,15,000

12/13/2021



The life assurance fund as on 31st March, 2018 amounted to Rs. 41,92,000 before 
providing for Rs 32,000 for dividend for current year. Net liability is Rs. 40,40,000 for 
all contracts. An interim bonus has already been paid Rs 40,000. Calculate the 
amount now available for bonus to policyholders. * 
(2 Points)

18.

1,52,000

1,60,000

1,12,000

1,92,000

Ganesh Ltd. forfeited 200 shares of Rs. 10 each for non-payment of final call of Rs. 3 
per share and re-issued these at Rs. 6 per share fully paid. Calculate the amount 
transfer to the capital reserve. * 
(2 Points)

19.

Rs. 600

Rs. 500

Rs. 450

None of these

12/13/2021



Calculate the amount of Reserves and surplus to be shown in the Balance Sheet of 
XYZ Co. from the following information.

Sinking Fund                                                                                                         Rs. 
90,000

Sinking Fund Investments (4% Government Securities of rs. 1,00,000)              Rs. 
90,000

Interim dividend on equity shares                                                                        Rs. 
30,000

Tax on interim dividend                                                                                         Rs. 
5100

Share Capital                                                                                                          Rs. 
5,00,000

Surplus Account (1-4-2017)                                                                                    Rs. 
63,100

Profit for the year                                                                                                    Rs. 
74,000

General Reserve                                                                                                       Rs. 
78,000

Transfer Rs. 25,000 to the General Reserve

Final dividend @ 9% on equity shares (in addition to interim dividend) is to be 
provided. Assume CDT @ 17% * 
(2 Points)

20.

Rs. 3,20,350

Rs. 2,21,350

Rs. 3,21,350

Rs. 3,76,000

12/13/2021



KMDP Ltd. issued 20000 shares of Rs. 10 each at par which were underwritten as 
follows:

X-     10000;     Y-      6000; and         Z-       4000 Shares


Applications were received for 18000 shares which included marked applications as: 

X-     4000;     Y-      2000; and         Z-       10000 Shares


You are required to prepare a statement showing how many more shares the 
underwriters will have to take to fulfil their obligations. * 
(2 Points)

21.

X: 1200 Shares; Y: 1000 Shares; Z: Nil

X: 1000 Shares; Y: Nil; Z: 1000 Shares

X: 1000 Shares; Y: 1000 Shares; Z: Nil

None of the above

The following are the statements of income received and income accrued in respect 
of performing and non-performing assets of a bank. Ascertain the income to be 
recognized for the year ended 31.3.2019.
                                                                  Interest earned	 	 	 Interest 
received

                                                                   (Rs. In Lakhs)	 	 	 (Rs. In Lakhs)

Performing Assets:

Term Loans	 	 	                                 270	 	 	 	               190

Cash Credits and Overdrafts	                         800	 	 	 	               610

Bills purchased and discounted	                 200	 	 	 	               175

Non-Performing Assets:

Term Loans	 	 	                                 100	 	 	 	               25

Cash Credits and Overdrafts	                          170		 	 	               31

Bills purchased and discounted	                   95	 	 	 	               10 * 
(2 Points)

22.

Rs. 9876 Lakhs

RS. 1336 Lakhs

Rs. 1041 Lakhs

Rs. 8835 Lakhs

12/13/2021



Calculate the amount of changes in reserve for unexpired risk for year ending 31st 
March 2018 from following information:

reserve for unexpired risk for year ending 31st March 2017                        Rs. 
3,66,594

Additional reserve for unexpired risk for year ending 31st March 2017      Rs. 45,824

Net Premium                   Rs. 9,89,980

reserve for unexpired risk for year ending 31st March 2018 @ 40% and 10% as 
additional reserve. * 
(2 Points)

23.

Rs. 83,572

Rs. 81,572

Rs. 82,572

Rs. 84,572

On the basis of following information, calculate the amount of Schedule 14- Other 
income of Hi-Tech bank.

Interest and discount   Rs 17,060

Interest on balances with RBI    Rs 60

Income on investment    Rs 4,720

Profit on exchange transactions   Rs 1,460

Loss on sale of investments      Rs 100

Profit on sale of investment     Rs 540

Commission and brokerage    Rs 3,040

Profit on sale of land        Rs 1,680 * 
(2 Points)

24.

6,620

11,340

21,840

None of these

12/13/2021
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Microsoft Forms

On the basis of following information, calculate the amount of Schedule 13- Interest 
earned of Hi-Tech bank.

Interest and discount   Rs 17,060

Interest on balances with RBI    Rs 60

Income on investment    Rs 4,720

Profit on exchange transactions   Rs 1,460

Loss on sale of investments      Rs 100

Profit on sale of investment     Rs 540

Commission and brokerage    Rs 3,040

Profit on sale of land        Rs 1,680 * 
(2 Points)

25.

6,620

11,340

21.840

None of these

12/13/2021
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